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õ� 275,000ÿ ¾}ï 90,000

öõ 132,000ÿ ¾}ï 50,000

þ¯m~ÿy^þ 38,500ÿ ¾}ï 400ÿ}~¾nþÿ
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þ¯m~ÿy^þ 49,500ÿ ¾}ï 400ÿ}~¾nþÿ

ÿ}û or}mrºÿ

þ¯m»ÿ m~ÿò 220,000ÿ ¾}ï 50,000

þ¯mYö^ 55,000ÿ

}÷öíV÷wË 33,000ÿ ÿ´º~|\ kuý 13,000ÿ

}ûwË 110,000ÿ kuý 11,000ÿm~ï{kuýßÿ

g]ØtwË 55,000ÿ

ÿ�ýÏm�³ûõ�wË 66,000 ¾}ï 22,000

ÿ�N~ÿ�ýÏûÿ

ÿ�ýÏm�³ûõ�wË 88,000ÿ ¾}ï 22,000
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ßþm�]» 165,000ÿ õ� 33,000
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ë×Î]ÿYö 9,900ÿ n� 500

Îÿ¾n×ßÿÿý~|\ÿ 8,800 n� 3,270 ÿ 1,070ÿ�ý{¿ÿ

;ÿ.^ÿâÛÿ1}û~¾n~ßÛ}�²�y»|\ÿ~tx{ÿ 66,000

;ÿ.�õ~þu ÿþþïßÿ 22,000

;ÿ.­Ûúè_r~|\ÿ 44,000
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¿wýÿg1ÿg^û 44,000ÿ

¿wýÿg1ÿg»ÿwË 88,000 ÿ

¿wýÿg^û 110,000ÿ

¿wýÿg»ÿwË 330,000ÿ

úßm»ÿwË 55,000ÿ kuý 17,500

ý]ÓÞóß^û 220,000ÿ

¸ß÷m»ÿwË 275,000ÿ ¾}ï 24,000

÷{W»ÿÿõ�û[þÿ 66,000ÿ ¾}ï 19,000

÷{W»ÿÿõ�ûýþÿ;ÿ 77,000ÿ ¾}ï 19,000

÷{W»ÿ Yö^ÿ[þÿ 42,900ÿ

÷{W»ÿ Yö^ÿýþÿ 55,000ÿ

÷{W»ÿ þûwËÿ[þÿ 49,500ÿ ¾}ï 1,500

÷{W»ÿ þûwËÿýþÿ 60,500ÿ ¾}ï 1,500

�ûÿyµüó¹ÏmgÛwË 275,000ÿ

å¹m }w 8ÿb÷m»ÿwË 275,000ÿ

oãm �³wË 143,000ÿ

ÓÞ­úm]»wËÿ_úÿ 220,000ÿ �³]»~ 30,000


